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= X 4 B2 | FTimh oD EEEE ADKRES X 4 'Fﬁﬁ“ﬁ?ﬁ\TBONKEF ‘S | AnxEE X 4 & | Lissrootts ADKRES X 4 Emhoots | B ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#Z#B% % - -~ - -|[3mZEEBR S -~ - - -| 100kN/MZ#BZ % - -~ - -|3mEBZ D -~ - -
znLs 1.00 | 0.00 ~ 4.52 56.34 | #nLs | 000 ~ 452|191 10.24 Fhn s 1.00 | 5.00 ~ 56.00 56.34 | =N | 5,00 ~ 500 1.91 10.24
2 100kN/m#%#B2%| 1.00 | 000 ~ 046 106.85 |3mEBZ5 -~ - - -| 100kN/M%#BZ5 | 1.00 | 1246 ~ 1450 106.85 |3mE#EZ3 -~
Zh s 100|046 ~ 825| 100.00| Thils | 0o ~ 825|194 10.39 LS 1.00 | 5.00 ~ 1246 100.00| FhLs | 500 ~ 1450 1.94 10.59
3 100kN/mM#Z#B% % - -~ - -[3mZE#BR S -~ - - -| 100kN/M%#8% % - -~ - -[3mZEBZS -~
Zhn s 1.00 | 0.00 ~ 5.65 70.60 | TnS | 000 ~ 565 1.84 9.83 zh s 1.00 | 5.00 ~ 6.40 70.60 | EnLS | 5,00 ~ 640 | 1.84 9.83
4 100kN/mM#Z#B% % - -~ - -[3mZE#BR S -~ - - -| 100kN/M%# 8% % - -~ - -[3mZEBZS -~
Zhn s 1.00 | 0.00 ~ 5.59 69.81 | #hs | 000 ~ 559 | 1.84 9.82 zh s 1.00 | 5.00 ~ 6.30 69.81 | TnS | 65,00 ~ 6.530 | 1.84 9.82
5 100kN/m#Z#BZ2%| 1.00 | 000 ~ 1.97| 130.42 |3mZEBZ5 -~ - - -| 100kN/m%#BZ 5| 1.00 | 1085 ~ 1975 130.42 |3m%E#BZB -~
Zh s 1.00 | 1.97 ~ 9.76 100.00 | =nLsY | 000 ~ 9.76 | 2.25 12.04 Zh st 1.00 | 5.00 ~ 10.85 100.00 | =N | .00 ~ 1975| 2.25 12.04
g 100kN/m#Z#B2%| 1.00 | 000 ~ 232 13615 |3mE8BZ% -~ - - -| 100kN/m%#BZ5 | 1.00 | 1058 ~ 1977 136.15 |3m%E#BZB -~
Zh s 1.00 | 2532 ~ 1010 100.00 | #nS | 0.00 ~ 1010| 2.43 13.01 zh st 1.00 | 5.00 ~ 1058 100.00 | =N | 5,00 ~ 1977| 2.43 13.01
7 100kN/mM#%E#BA5| 1.00 | 0.00 ~ 277 14373 |3mEBZS -~ - - -| 100kN/m%#BZ A | 1.00 | 1068 ~ 23.11 143.73 |3m%EiBAS -~
zh s 1.00 | 277 ~ 1055 100.00 | TnS | 0.00 ~ 1055|282 15.08 zhLs 1.00 | 600 ~ 1068 100.00| NS |65.00 ~ 2311|282 15.08
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zh s ~ zhs ~ zhLs ~ zhLsn ~
100kN/m#%#B 2 % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zh s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
zh s ~ zhs ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zhn s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLs ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLsh ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
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